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f, Use slope-intercept form to find the equanon of the line hoving a slope of 3 and s y-mrercept of S \ﬁ: MY+ b
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) Determine the equation of a hine passing through the point {5, -3} with an undefined slope.
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Using the point-slope form y — y, = m{x - x;), write an equation for the line

1. with slope -2, containing the point (3, 4) 1. g" 4= - ()( ":D

-5 _ T
2. containing the points (1, -3) and (-5, 2) 2. U=-g= % (X‘\'Y) of ﬁ"\ﬂ 1 (X 'D
= I ESS I ~J
- - -6

3. with siope 0, containing the point (4, 2) 3. 9):9\

| -4

4. perpendicular to the line in problem #1, s VU = B ( )( "3)

containing the point (3, 4) -1 J = ;
-y | |




I. Polynomials
A. Factor Completely.
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C. Solve the following quadratic equations for x.
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II. Linear Operations/Solving Inequalities

A. Create your own grid and graph the following equations.
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2. y=(y-2 1 3. =
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B. Solve the inequality and graph the solution set on a number line:

1L 4(t+2)-3>7(t+5)
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1) Determine the slope of the line containing the points (6, -2) and (-1. 5).; ~
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2) Determine an equation for ¢ line with slope 71- and y-intercept at (0, -3).
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3) Determine an equation for a hne paralle! to y = -3x + 4 containing the point (2, 1).
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4) Line m is perpendicular to y = 4x — 1 and passes through the origin. What is the equation

of line m. m=- ‘A (Oxo> B—-\/\-\- =9
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Solving Quadratic Equations Assignment

1. Solve for v
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Special Factorization - Assignment

« Completely iactor the followi_n.g expressions
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Given 7 (x)=7—x*anag\x)=x—4 . 1Na eacn vaie.

(=) 2. g(-4) 3. f(2(-2)
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Given the following functions, f(x) = -3(:x ’P) 1 and g{x) = —— , find:
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Linear Functions - Assignment

1. Find the equa‘{lon of the line 111“*10,,____{31?_;1.1._t.tii.ﬁ":i}.'211132&13&l thh the given slope, passing tlnoufrl} the given poiny’
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2. Find the equation of the line slq;m—;in;@r&;ﬁpt,fomz. passing through the fo
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3. Write equations of the line through the 01\ eh poxmr ‘a) parallel and b) normal to the Ziven ime.
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4. Find an equation of the line containing (4 Z)znd parallel to the line containmg (~1,4) and {2,3). Put your
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